g S

"'"’l"rl

l"g’}f"“"

Note:- Yo

SIS 5 P

(54“:’ @@ﬁo “
%@ 245 21550

] 2O e sz L Ll ﬁz:éfg}lz,ujz;)D/:IC:BrAcayi.;?/lgédlr ks
g /,:,'?/,_,,_Jlr;/l..)l/lu;u LQdeﬁ-gn/r“"w._alﬁujflufa//JL//_;/(.‘,KLL/{/u;/'bu.L_J
-§.CVJWIK5‘V.P4'J/LJ/:‘S/J_J£4H‘.)lbdﬂ)gﬂ(ﬁdﬁau‘g{yruj/

ave four choices for cach objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
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front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will resuit in zero mark in that

question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed
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For reaction between PCl; and Cl, to form PCls the
/ units of K, are.
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The conjugate acid of HPO,  is
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CoHyz W\U D\ 16 CoHis molecular formula of C4H,, . What is the molecular
Wf formula of the next member of same homologous series
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Vitamin D Vitamin C Vitamin E Vitamin A . | Night blindness is because of deficiency of
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i Percentage amount of Argon in Air.
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NO, gas SO, gas CO, gas S0; gas Normally rain water is weakly acidic because of
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Troposphere | Thermosphere | Stratosphere | Mesosphere Just above the Earth’s Surface is .
MgSO, MgCO; CaCO; | Ca(HCOy), J ~dre 20 BAGLA | 10
\/ Temporary hardness is because of
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Bromine Fluorine Chlorine Iodine Which one of the following gas is used to d
harmful bacteria in water? ™\ ﬁD@
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